A

et Fr e g s a2 - _ _

(A) Tegaf B), FTEA &

(C) e Raersit (D) = -
Who was the first Sultan of Delhi ? -

(A) Iltutmish (B) Qutb-ud-din Aibak
(C) Alauddin Khilji ' . (D) Balban g
Wﬁ@ﬁ'%ﬂﬁﬁﬁ? & ;

(A) ST Shepferm O (B) et @HIS
(C) T S » (D) T=E frefeim

Who discovered Nitrogen ? <] ; \

(A) Benjamin Franklin ! '(B) Daniel Rutherford
(C) Karl Benz D (D) Richard Gatling '
SIS & a7 AR 8 2 '

(A) 7 et 2 ¥ Pt o 7T onfores P &
(B) m%ﬁéﬂ%m@%ﬁﬂhﬁmﬁ@ﬁ
(© = forelt 3w 3§ S w7 B ®
(D) = frdi AT ANREga AT E

What is meant by a ‘trade deficit’ ?

(A) When a country’s exports exceed its imports

(B) When a country’s imports exceed its exports
(C) When a country has no trade at all >
(D) When a country’s trade is balanced @
muﬁwtmtlﬂﬁaﬁa)ﬁgﬁ?ﬁ%mﬁﬁ?w,@mm e Frvdiarr oy 0 & T firgt F e
AT A & S8 STETT F T @ e |
@) o ®) FwEH W (o) fem (D) et T T
Name the traditional form of wrestling in UnaEradesh (including other States), which wrestlers practice
in a specially prepared mud pit called an Akha
(A) Mallakhamb (B) Kabaddi q (C) Silambam (D) Kushti or Pehalwani
o Hen ¥ @ 3R go g - H I v, St Sfif oitt Sift wev 30t & e o e e
R st i 2
(A) ITALH. (UNEP) (B) THTAL (FAO) (C) I (UNESCO) (D) fawsi®
Which institution released the report titled ‘Sand and Dust Storms :- A Guide to Mitigation, Adaptatior
Policy and Risk Management Measures in Ag:ri{:‘l}lmre’ T : g
(A) UNEP (B) FAO (O (C) UNESCO (D) World Bank
PAN HFI I ST RTR ? 4 _ -
(A) ITEae e et (Fsft @mar de) oo ®) THTE SRS ol (SAT @l §ET)

Q) T T W (R @ ) ] @ T SRS TR (SR G §e)

What is the full form of PAN ? ® . L
- (A) . Private Account Number ‘ (B) Permanent AC\GOUﬂt_NumiJer ;
(C) Personal Account Name 4 (D) Personal’Account Num_ber
W%GSTﬁEaﬁmaﬁ(gﬁﬁ)%ﬁﬁ@T@‘- ) A R R Joy )
The number of structures in India’s GST model is : 2 S
@) Y. NE) 6 @ (D)3
S T TR B T Page DOEZA, &\ e Mg o VU
GWASAT, ‘5 t L
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8.  WTO % a0 weIfeers 1 & 2
(A) wRfEA e () i siwehgder.
©) wi=rgraa (D) wIRw
Who is the current Director-General of WTO ?(")
(A) Claudia Goldin <] (B) Ngozi Okonjo-Iweala
_ (C) Hemando de Soto (D) Eric Bettinger
9. ﬂﬁrﬁ‘«ﬁ@aﬂﬂaﬁﬂma‘r@é’rwﬁéﬁ%? s
Which of the following is the GST common p ?
(A) www.gst.gov.t'n (B) www.gst.com @) (C) www.gst.in (D) www.gov.in
10.  frg yda i oo NS FHET AT R 2 <] _ _
A) affy (B) feur™ ® (C) TS W= (D) Feit yda
‘Which mountain is called the ‘Blue Mountain’ ¥
(A) Nilgiri (B) The Himalayas (C) Mount Everest (D) Mount Fuji
11.  SRE ST T iewR foraes gr forar ot -
(A) WIS G ®) forergm ( (C) i e (D) ies e
The celebrated novel ‘The Godfather’ was autheréd by whom ? -
(A) Mario Puzo (B) Victor Hugo (C) John Milton (D) Harold Robbins
12. wmmmmﬁmmm%{}
(A) TTHSHAT R H ] ® g} il Tag i THid §
©) mamaﬁ@r(ﬁmﬁm) _ e O IS H e o I A
Earth’s Albedo is largely affected by the : .
(A) Atmospheric layer q (B) Nature of the Earth’s surface
(C) Cloudiness @) (D) Dust particles in the atmosphere
13. AT G fores g @S T o 2 _
(A) Usifcie henfer i ® PUIEES)
(C) v dree AR wifed frm (D) =Ted s
The structure of DNA was discovered by whonQ 7
(A) Rosalind Franklin _ (B) Gregor Mendel
(C) James Watson and Francis Crick 43 (D) Charles Darwin
14. Tra s anad e wmram e [ L
S (A) Hzat S 3 s @ (B) W e &,
(C) ¥ 3T 3fean (D) W We %
Which bank supported the demonetization in Inél ?
_ (A) Central Bank of India i ) (B) Reserve Bank of India
(C) Bank of India . (D) State Bank of India :
15. mﬁﬁﬁmmmﬂmﬁammﬁww%mwﬁﬁﬁﬁmﬁmﬁa%ﬁ
o (A) EEERERT (B) T
(C) eIt : (D) TR
Which of the foIIowmg cybercnmes involves deceiving, md1v1duals mto revealmg senmtwe mformatmn ?
~ (A) Cyberbullying .(B) Hackmg
(C) Malware (D) Phishing T
ST s T Paged OE AL = Ny AT R ARy
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.‘?\*5 L) 'C\o
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16.

17.

18.

19,

20.

21.

22.

23.

T H e T WTH T aTet g8t M )

(A) dreom (B) wet

(C) wfSH g £ (D) TelfgHTer TR

The first Indian to receive the Nobel Prize in the@.lre WS il ety

(A) C.V.Raman (B) Mother Teresa

(C) Sarojini Naidu Q (D) Rabindranath Tagore
S 1 oot R R 0 o

(A) Az (B) fei []©) s (D) =T
Which is the capital of Germany ? ' _ :

(A) Madrid (B) Berlin < (C) Abuja (D) Canberra

2o AR &% HieRiaey 3NE @ nt:«:ra'mmml
(A) =& (B) TS (C) whre (D) "{'an
Trojan virus was released on numerous SolarWinds Orion Platforms.

(A) Spy (B) SUNBURST (©) Rootkit (D) Ransom
M%mgﬂﬁ&ﬁz@%maﬂww%g -

(A) TSR B) fmmr (C) Hiciferm (D) TiiEamT
What is the name of Earth’s first super continent

(A) Vaalbara (B) Pangea (€©) Columbia (D) Gondwana
FH-|T HTS AT & e T forareiier 2 At aﬁt@n‘:ﬁnmm%‘?

(A) aﬂﬁ%‘hﬁ'ﬂaﬁw ®) Fads

(C) TIHTL ® (D) forg =R d@TeT

Which organization provides loans and grants to th€|world’s poorest developing countries ?
(A) International Monetary Fund (B) World Bank

(C) United Nations - ® (D) World Trade Organization

331 1 Wi AR i Feffaa seemon @ sufarmr e

(A) sHEGT (B) oTifeieR yomedt (C) FgHFal - (D) ITEgwar
In Vedas, human right is signified with the conceptof :

(A) Equality - (B) Economic system O (C) Inequality (D) Untouchability
oy fora e &t “forg et e & w0 & wamen i

(A) 1530 (B) 143 - (C) l6°na (D) 130«
Which day is celebrated as “World Art Day’ every-year ? : : '
(A) 151 April (B) 14t April (©) 16T April D) 131 April

T G T S0 352 g@mﬁmﬁm% ®
(A) #qtmama'-raﬁts?rw (B) I TWT {77 A <hl SO &

(C) SISl Frgfeh <t aromr & (D) T STt ) e &

Article 352 of the Indian Constitution primarily d3ls with : -

(A) Proclamation of the formation of a new state (B) Proclamation of dissolution of the Lok Sabha
(C) Proclamation of appointment of CJI - (D) Proclamation of national emergency

nfteell o wedl/gEdt (SC/ST) Tl # Jafiar Fit agwEr I F g Wi TR 0 HH-AT FEET T6
R marar?

(A) €esamsfemr  (B) e (C) wisfem (D) fefeasfean

Which programme was launched by the Indian Government to promote entrepreneurship among women
and SC/ST communities ?

(A) Stand-UpIndia  (B) Skill India (C) Start India (D) Dlgltal I_n_tilii ___________
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25.

26.

27,

28.

29.

30.

31.

; R FIrehict
(A) . @

-

TersTarT TS i T 1336 7 R grr T off 9

(A) FURTRE | (B) =RET 3 g

(C) =gt (D) T AW

The Vijayanagara Empire was founded in 1336 by :

(A) Krishnadevaraya (B) Harihara and Bukka

(C) Narasimha Saluva (D) Devaraya I

T T A YT € ST st a2

(A) 20 fafwm B) 10PMR © 15 fiftrm (D) 5 fufermm
Mega cities are the cities having a pop@tlon more than ;

(A) 20 million (B) 10 mill; _ (C) 15 million (D) 5 million
T TR ST 7 38T STt srﬁtﬁa%ﬁﬁﬁfrm%mmﬂooonﬁrmﬁmm
FEATE 2

(A) wue w=ft o et qEee L] (B) wur= w3t sftex sifar sffar FismAn

(©) TS S womredt ) (D) W H=ft % seAr e
Which Indian scheme aims to provide ensmn to unorganized workers, assurmg a minimum pensmn of
¥ 3,000 per month after the age of 60

(A) Pradhan Mantri Shram Yogi M dhan (B) Pradhan Mantri Jeevan Jyoti Bima Yojana
(C) National Pension System = (D) Pradhan Mantri Vaya Vandana Yojana

g Fiohed HTH AT FEeT e g fere T & 2 _
(A) 3, usfemm (B) WS eS| (©) Hium. qsE (D) AR, SIehi
“The Chronicles of Namia” series is wfilten by whom ?

(A) J.K.Rowling (B) Roald 1 (C) C.S.Lewis (D) J.R.R. Tolkien

T AT HATIETE’ o A W ST § S F aTe Rl shl e i SSE A1 T’ ¥ 3 SigT I
ST St T ¥ e g At feufer 8

(A) SRUTCH SHEEAT J1a & (B) Y SHEE (&

(C) it & SEE I (D) ©FTeH® SR afE

The number of people entering a pop%:on through “birth” or immigration’ bemg equal to the number of
people leaving it via ‘emigration’ or ‘death’ is called :

(A) Negative population growth (B) Zero population growth

(C) Rapid population growth 1 (D) Positive population growth

AT TeheTehl S SATRIeh T@aRT (ITEC) FTishT &7 38 478 7

(A) ol s =1 faffam e (B) WiEhfaeh ATEH-TaH shi srgral &t

(C) =1 HRANT AT (D) eIhT TR G NREv ¥aH HEL

What is the purpose of the Indian Tech{}cal and Economic Cooperation (ITEC) programme ? -
(A) Regulating financial markets () ' (B) Promoting cultural exchanges

(C) Enhancing military cooperation <] (D) Providing technical assistance and training

-mmﬁwmmw%w%mﬁmmwﬁ%mﬁwaﬁ%mm
STISTIA T T G0 Y THEA R 2 O]
(B) Ufte awsitan

(©) RraTF=TH (D) Hif~ae Hierhier ,
Which international agreement focuse$n the protection. of the ozone layer by phasmg out the production
of numerous substances responsible fc@zone depletion ?

(A) Kyoto Protocol (B) Paris Agreement e aqon
(C) Geneva Convention | (D) Montreal Protocol :
S i Page 5 of 24 B R i
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32. ot i STy ST 3 R it e A

(A) ¥ (B) j-ardta el
(C) WEETT st =t . (D) T Sl
The primary source of energy for the Earth’s climﬁ; system is :
(A) The Sun ' (B) Geothermal energy
(C) Ocean currents | ()(D) Nuclear energy
33, wad frw Rt siadisfia freeteor o stmm s Raw Feadmmrsmd e
(A) 5= . ®B) 4w &4(0) 77 4 (D) 6°H
Which day is observed as the ‘International DisEjnament and Non-Proliferation Awareness Day’ every
year ? =
A) s"March - (B 4®March- @) 7" March @) 6% March
34. T €Y H, P Il g TR Al % 2023 ﬁ%ﬂﬁmﬁmﬁﬁ?
(A) SR siais g srger ®

B) Fier fadfazars sger A
(C) TG FeeWIS Teet S g gl ¢
(D) STt Rrarsft weTret sfaisia gar gt i,

Recently, which Indian airport received recogniti% at UNESCO’s 2023 Prix Versailles ?

(A) Indira Gandhi International Airport . e

(B) Kempegowda International Airport

(C) Sardar Vallabhbhai Patel International Airpg

(D) Chhatrapati Shivaji Maharaj International ort

35, A USEH U8 SRR U i o i@h b § 2

(A) Szt <](B) of1. 3T, o7 3=
(C) Wil i, Sresht (D) fotshe frder
Who is the author of the book “Human Rights anﬁ?lhuman Wrongs” ?
(A) “Upendra Baxi (B) V.R.Krishna Iyer
(C) Soli J. Sorabjee - (D) Chiranjivi Nirmal
fraferfaa o & SH-dt siene Y Teuwi € 2 o , |
(A) ga . (B) T , £ (C) TemmE . (D) foewe
Which of the following is the capital of Bangladegl-'.t)? ' By
(A) Khulna (B) Dhaka <](©) Rajshahi (D) Sylhet
mﬁﬁ%ﬂumﬁrﬁammaﬁwﬁm@m%? . 1% :
A .
B e ) foit
211;0 has the authority to declare a financial emergency in India ?
The President "“J(B) The Prime Minister
(C) The Parliament @J (D) The Finance Minister ; .
38. WHEE Wew I Aewqu divre dfedr adhen @ f ¥ % Wrean ¥ fady sitwt o
Hi-fenie yiter & o & qar e e € | .
(A) R R (B) SU9ed - (C) =rfige (D) |HHTE
Facebook customers can find out about special offers and on-demand promotions via , one of the
most important social media marketing tools. -
(A) Post Planner (B) Agorapulse (C) Chattypeople (D) SocialOomph
2220t e B S W Bagebotad- .. B o Eaay
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39.

40.

41.

42.

43.

45.

-

s LR
._,‘.t. u"t i

A ‘BEAR’ ® *25-22-26-9" % w0 & sifea fvar v , 6t “TIGER’ %Y 35 Ffee e e 2
If ‘BEAR’ is coded as *25-22-26-9", how will ‘TIGER’ be coded ?
(A) 7-9-11-4-17. (B) 9-10-13-6-17 (C) 8-9-12-5-17 (D) 7-18-20-22-9
S SvTel we g i | |
Find the next number in the series.
16,10,20, 14,24,

(A) 18 B) 28 - ©) 12 D) 16
RS R URIIEEE -
ol e e 7 %
@) == @ T “ © ®) 8
Complete the analogy : \J

Thermometer : Temperature :: Odometer {3 .
. (A) Pressure (B) Weight [C] (©) Speed (D) Distance
SHH FEAE J1d I | ©
Find the dissimilar numbers. X {:I KL 5 &
(A) 9,12 (B) 15,60 ® (© 5,20 (D) 10,15

@émcﬁl%maﬂzaﬁamcqﬁamqt60m%mwﬁgmm)mmmm%|
RO SATEI-FIE (FHE-HTH) FTAFLFME?

(A) Taed (@Usiem) (B) futas™ (FTEUEIT)

(C) uffe s ) el (ufer)

A cylinder is intersected by a plane inclined at@ angle of 60 degrees to its axis. What is the shape of the

resulting cross-section ? ; ]
(A) Parabola ;’:L _(B) Hyperbola
(C) Spiral % (D) Ellipse

e el 3, aie el o e 3 33 ¥ T g  firar, 3fire i vead | v, fre e A | 9,
qmaﬂt%ﬁg%aﬁaam%lmwﬁméa% B NG F RN S B O
(A) i - B zfae ~N o) T (D) B

In a conference, five participants are seated mia)row Alan, Bob, Chris, David and Edward. Alan is not

next to Chris. Bob is seated between Alan and David. Alan sits on one end. David is not next to Edward.
Who is seated in the middle ?

(A) Bob (B) David | (C) Alan (D) Chris

52 qﬁﬁwn@ﬁmﬁmﬁﬁmﬁww& ?
What is the probablllty of drawing an ace from Qack of 52 cards ?

o L
2 1 ~
A o5 %3 ® 13 a '
i # 51’
1 = .
© = @ O =
52 13
L L g S e - eI el L
TR - (gjge 7 of 24 £
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: (e B
Ryt - w
s6. A rmen i ool SR @ AR ke | g ot
Find the next figure in the given series. '
GREE G

Given series :

Julef
NI g

47. e # faww @sie) 3o i |
Find the odd one out in the series.
Al, C9, E25, G49, 189

14} : s
(A) C9 ®) 189 (©) I%S (D) G49

48. U Hfew A FE, ﬂﬁmﬂﬁm%aﬁaﬁrméﬁ% ﬁ%&qﬁﬁmﬁawﬂlaﬂa@%aﬂt
mﬁmﬁmmmmmmmﬁﬁﬁm%l”ﬁﬁWﬁmw%? |
(A) 4599 B) 6
©) 633 (D) s

A lady said, “If you reverse my age digits, you’ll get my@sband’s age. He i is older and the difference
between their ages is one-eleventh of their sum.” What is the,man’s age ?

(A) 45 years ; (B) 36 years o L
(C) 63 years (D) 54 years s

49. m@ﬁrlt{aaﬁ%aﬂzﬁﬁn%wﬁm%lmﬂﬁw TN FA §Y, AR 111, Nﬁ‘ﬂfiﬁﬁ%laﬁﬂm
T 3t I8 I AFHr it =1 Hifore Sl 1V 3 Tormr o v =nfeg |-
Figure I is related to II in a certain pattern. Following the sgme pattern, figure III is related to IV. Study the
pattern and select the answer figure which should be placeQﬂ'L place of IV. :

(2 AOxx

e

AP e K
M =lle. = o [v2E
S| |[d D ®
I I I IV <]
Answer ﬁgurbs
a : a a K
(A) ® (B) @ © K ™| O
A K @) d
L A T Piso Bt m R
\"Q“ASA?Q,
A % : :
THE |
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e (o CamScanner
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s0. Pt st i fgsi ) e @ AR |

Determine the number of triangles in the following figure.

e &
o
v
(A) 13 (B) 16 © 7 (D) 9
51. Ry fiw i@ fww (@6e) F @ fifm |
(A) T g (B) T - O © T3, (D) 7§ 7
Find the odd one from the given alternatives. !
(A) March (B) June 4 (C) July (D) May
52. e R et o srera Aifvi P |
Study the figures given below : D

—

l?

e fog e fortt 3 & e o fv sy s e e S it <t v 3 fore werdt sogem |

From the figures given below, choose the figuré that will be most suitable to continue the pattern given

above ()
R N - A
A v % (B) I <] ©) I D) I

53. e ¥ 3Tl WA 1 i |
Find the next umggrin.lib_e series.
e b
145, 155, 175, 205, 245, ? _
(A) 285 (B) 295 42 (C) 300 (D) 290

54, 4 srfdt § @, 3 3 ompfat T A o o A e F T TR (@) S E |
Out of the given figures, find the 3 figures that wilj,form a square, when fitted together.

DUV@W R

(A) LILIV. A < B) LIULIV
b i, v 23 O o Lmmmiee
e s e e e R T SR TS SRR Page 9 of 24 - R i
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& &
[

A4
p
s5." A, CHIAIE, CIHNQEHE Z, QR uig oinp, zw aar ¥ | Fffaa H P FA TA 8 ?
. (&) P AT (B) P 3t A =it wié (e |
"7 (0 cairpwEl & . (D) QAFAMEI
ﬂ* t —-% A is the son of C; C and Q are sisters; Z is the mother of Q and P is the son of Z. thh of the following
" statements is true ? -
ﬂ* (A) P is the maternal uncle of A. (B) P and A are cousins.
(C) Cand P are sisters. (D) Q is the maternal grandfather of A.
56. I WIS AT @Y S U W Wl wE 2 |
(A) e () (B) W {E) 7 (D) 3o
Find the word that does not belong to the set. O r
(A) Lead- (B) Copper (€) Tin _: (D) Steel. -
57. et e s o v wawt o e 3 forg wlt e s it
a. I3V FHATI
b. R W T ST e | [
c. TR 60% i oh Y gt erner F dw Rt i
d. 3TEYH SOH = 25 3 |
e. IR FELTF M PG R, At wiwen afm 4 1 9T AT R |
f. AR IPTER % o A T 2, e e & fiftue w S g |
g. aﬁmmm#mmwmaﬁwm%?ﬁmﬁa%ﬁﬁmﬁﬁwm

2l
ﬁﬂﬁf@awm%mmaaﬁm#%qaﬁé}mﬁmﬁwﬁ%m

g;:ﬁw 68% i % | MCA | 317 30 3 Ehuma:mﬁzsaémraﬂwa lsz'rﬂﬁf«;o 37 9™
[

(A) maﬁaﬂﬁmmm%mﬁ@m{%

L
(B) W %% % Ry #t STsmr /‘;: el
© FTmamwd [] 1.2
(D) Sefiear = 78 s R ® 7ol Vg
Consider the conditions for selecting faculty membe@m a computer education cenh{
a.  Agebetween 23 to 28 years. -
b.  Work experience or programming experienca.@
c.  Postgraduate degree in computer application with at least 60% marks.
d. Minimum of 25 marks in the interview out of oy EE e e
e.  Ifthe candidate does not have PG, the case is fo.be referred to the senior faculty member.
f.  Ifthe candidate does not have work experienc@ e case is to be referred to Principal of the institute.
g.  Ifthe candidate satisfies all other qualiﬁcatioﬂilxcept the age limit, the case is to be referred to the

Director of the Centre.

Which course of action should be taken for Babli'$ i based on the'folloﬁng information ?
Babli Sarkar.: MCA with 68% marks, Age 30 y;g;j years of experience as a programmer. Obtained

40 marks in the interview. e5 X4—
(A) Candidate is to be selected as a junior faculty nﬂmbcr \ I 4 e
(B) Case is to be referred to the Dm:ct-ar of the C@e i - ' ! c te=
(C) Data is inadequate > . | 13
(D) Candidate is not to be selected ' L3 b 5 See &
i < T e i 7 (7 ) tzriail
BXV: T ﬁU" q.g/’! ,(V’ /
< ° :
T/ e 2 ¥ 5
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58.

59.

agﬁa.ﬂaﬁmmaﬁﬁqﬁmaﬁm4 6, 8, 10 3 12 & famfra o simar &, o onft Rt 3 3 919
FaaT |
Find the least number which when divided by 4, 6, 8, 10 and 12 leaves the remainder 3 in all cases.

(A) 132 (B) 123 ©) 117 (D) 120

TF @, 60% e 30 af & s g H ¥ oft T & 75% e ¥ o dw ufeed € | Al
30 9 & A Y F 135 Tov 4l &, @ Fran 1 St i e b e 2 2

In a factory, 60% of the workers are above 30 ye d of these 75% are males and the rest are females. If
there are 135 male workers above 30 years, the total number of workers in the factory is

(A) 200 B) 300 G 150 (D) 180

T A i FHa o 20% 6t Fft e AREF € 54 ° Slﬂasqﬁ'ﬁ@ﬂaﬁfrmaﬂwﬁ% | Y & it gfer gt =
g ?

A 20% reduction in the price of an apple enables a man to buy 10 apples more for ¥ 54, Then what is the
reduced price of apples per dozen ?

(A) T1296 (B) T14.32 (C) T14.48 (D) T10.80

e e 8, g SACT 1 3 - 5 3 S & e e & S e frema 3 37 6 - 1 3 s 3 P st
%lﬁﬁmﬁiﬁﬂﬂﬁ@mﬁmmﬁmﬁﬂmmaﬁqmﬁﬁwmﬁmaﬁtwﬁl 1 %

A@H S ?
In a glass, milk and water are mixed in the ratio 0f-3 : 5 and in another glass they are mixed in the ratio of
6 : 1. In what ratio should the contents of the glasses be mixed together so that the new mixture

contains milk and water in the ratioof 1 : 1 ?

(A) 8:3 (B) 20:7 ®c) 25:9 (D) 27:4 i tle® S0
62. ngrmaﬁﬁrmq@ﬁogmﬁ%ﬁmwﬂ:am%lﬁ sl e ?
The cost price of 72 books is equal to the selling p@e of 60 books. What is the gain percent ? I’Z A~
(A) 16—% B) 20% ©) s—% (D) 18%
63. w&éﬁﬁfsoﬁmaﬁmﬁ@ﬂmm%aﬂﬁenﬁsoﬁatﬁémaﬂm% A T o TR ?
If bananas are bought at the rate of 60 for T 50%and sold at the rate of 50 for T 60, what is the profit
rcent ?
pe i O a 5'2; t:n &> 5'2'
(A) 42% (B) 66% o) 48% (D) 44%
64. 12, 18,20, 25 T AW GHTIAH (LCM) 1a AR C tfee Yrwm
Find the LCMlof 12, 18, 20, 25. |:| 21:
(A) 880 (B) 860 @XC) 920 (D) 900 .
65. Ammﬂ@mﬁﬁBﬁgﬂﬁso%a%ﬁuém%wﬁ&qmwmaﬁtggmﬁz?ﬁq%%%
T B 7%t i 3@ e awg wm 2 Q)
(A) 35FF (B) 30f= (C) 45T @) 40f=
A takes 50% more time to complete a work than B. If together they take 27 days to complete the work,
how much time shall B take to do it alone ?
(A) 35 days (B) 30 days (C) 45 days (D) 40 days
TR e i T PR T e T
1‘5“;\54}-”!
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66. A T fafim 120 el o o w1 B, A & 60% 3 T @ | 6 3¢l A KA o foTC B 3y

T R amm 2

(A) 80fA ®) 75f7 . (€ 70fF (D) 10fe

A can do a certain job in 120 days. B is 60% more efficient than A. To do the same job B alone would take
how many days ? '

(A) 80 days (B) 75 days (C) 70 days (D) 10days

67. T saftn 600 ot 1 5t 7 g 80 ffyeRd i wrer &, 800 el waTd e 2wy 400 fpRfyeR < = & ot
loommmso%ﬁﬁ%ﬁm%mm%lﬁ{ﬂgﬁ%%qﬁg}ﬁmw% ?

(A) 130% A (B) es%m,ﬁa © efmira . (D) 60% Rpefi/ereT

A person travels 600 km by truck at 80 km/h, 800 km by aeroplane atﬂm km/hr and 100 km by
motorcycle at 50 km/h. What is the average speed for the entire distance ? {}
(A) 13'[]m km/hr (B) ﬁsi km/hr (C) 62 kmv/hr ) ﬁﬁi km/hr
23 123 13

68. U Wiea € 25,220 Wéﬁﬁ%aﬁtaﬁﬁﬁaﬂtaﬁ?aﬁm?ﬂ?m%&ﬁﬁﬂﬂmﬁ%% | g =shafe
T 1 X 5% 2, A Wk fober 6 e s | _ ® '
A woman borrowed ¥ 25,220 and she returned the money in three equal instalments after one, two and
three years. If the rate of compound interest is 5%, then find the value of each instalment.

(A) 8000 (B) %8261 (C) T9261 (D) £9,000
69. @W@%ﬁ%aﬁﬁ{eﬁm10%#@\@&mﬁluﬁ%ﬁwmw3mo%ﬁeﬁ%nﬁm
Frfire AT T 10% 2 33 % 1 20% 31 T 3l T wF | O |

A shopkeeper allows a discount of 10% on the marked price of a camera. If th¢ cost price of the camera is
' ' 3,600, find the marked price so that shopkeeper can eam a profit of 20%, afict allowing 10% discount.

' (A) T3,650 (B) T4,800 (€) %5700 ) €4,750

70. A, B 3R C 3 G BTt 3 wahr e i soern e o1 5 : 4 3 97 | 4 WG F AR, B AT 1,000 AR
e foo 31 8 Wt 3 a1, € 3 2 2,000 Afifees Frdvr e | af o a3 ot Jhy ot g 152 142 11 9
3 yrera # ¢ % il I il | ' g

A,B and C entered into a partnership, and their investment ratio was 5 : 4 :@Aﬁeﬂ months, B invested

¥ 1,000 more and after 8 months, C invested ¥ 2,000 more. At the end of one year, if the profit ratio was
15214 : 11, then find the investment of C at the beginning.

e B ReUN (B) 3,000 (©) 7,500 (D) T4500 |
1. et x e e L R, v L Lo dm g ot 2
' qa ¥ RS S PR AT | AR a & s st ate 230008, BTy FMEmy .

A 1 : 1 ; ; - :
In a partnership, X invests g h of the capital for 3 h of the time, Y invests 1 of the capital for %rd time

* and Z invests the remaining capital for the whole time. If at the end of [EF year the profit earned is

¥ 23,000, then what will be Y’s share ? ©®)
(A) ¥5,000 (B) ¥5500 (C) 4,000 Q‘ID) £6,000
BXU 98, | o e e e  Page A of AR R
*5“"5‘ r“l
9 o
T/ rue 2
| RS @ Watermarkly
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% | i 55
72. AR a, b, ¢pd; e T TN frww vt §, @ S SEa T e 2 _ : %

If a, b, c,d, e are five consecutive odd numbers, then their average is

(&) a"“;"° (B) 6(a+4) (C) a+4 (D) HaFbHetdte)

73.  ThglE SIS T 3,000 Fr Tfdr 2 at 3 £ 6,000 8 < | A T ad & fere et fapan @ 2

A sum of ¥ 3,000 amounts to ¥ 6,000 in two years at compound interest. The interest for four years is

(A) 12,000 B) 9,000 (C) T3,000 (D) %6000
7. ?ﬁ?aﬁﬁﬁﬁ?ﬂﬂ12%ﬁ-ﬁ?%ﬁ%ﬂﬁ,EWZI%Wmﬂﬁﬂmﬁlﬂﬁﬂgﬂﬁ@qﬁ%ﬂTﬁ,
e faraar o ifsfa o 2 :
ﬁ price of a book, a shopkeeper earns a profit of 21%. If he

After giving a discount of 12% on the marlin
doesn’t give this discount, then how much p fit would he eam ?

(A) 25% (B) 40% < (© 31.5% (D) 37.5%

75, el i, Zal veeh A Tt s e Rl & 1 af i e w it 44 2, vl ad e

TR ? ] -
Of the three numbers, the second is twice th¢first and thrice the third. If the average of the three numbers .
is 44, the largest number is <]
(A) 72 (B) 24 \ (C) 108 (D) 36

76. USRI F 2025 %ﬂaﬁwﬁ,agafmmﬂ%agm 12: 13 13 12 : 15 % S99 4 g4 AR 7 356 &
a1 firsror e & & fore fepet mme o o firetme s ot Stavear 2 | &l
(A) 162 (B) 160 @t (C) 150z (D) 156X 932

In a 2025 litre mixture of milk and water, the ratio of milk to water is 12 : 13. To get a new mixture
containing milk and water in the ratio of 12 %15, the amount of water to be added is |

(A) 162 litres (®) 160lies () (O 150litres © (D) 156 lifres *
77, Fraff fifr f fog e Wi & & F-aT e fie TQ 1 PUNISHMENT STt il ST teh et et

EIRETIN ' . 1
Determine which of the provided wordséannot be formed using the letters of the given word

PUNISHMENT. , e
(A) PAIN ® PENT ® (0 SENT (D) PUSH - G
4 | 23V %
78. WEWE U Hif : <] b : s
ﬁaﬂﬁm:w@z: <9I j @) : ; ;
(A) wwEht ® W (©) wirg (D) Yferlt
Complete the analogy :

Engineer : Blueprint : : Chef:
(A) Ingredients (B) Menu {} (C) Kitchen (D) Recipe
79. 40 Prenfidt o e v , 20 % St sftr forgpayg & 9K 15 3 fere g &, g Sftr e e | 7 R
ﬁ;nﬁaﬁmﬂjﬁma‘mﬁam‘sﬁaﬁaﬁ,%ﬂﬁaﬁﬂm% | 3 forenfifalt Y e e i S v
i s fargra 2t T | 4 i
In a class of 40 students, 20 have chosen on};z}ﬂiology and 15 have chosen Mathematics, but not Biology.

Given that every student has chosen either ematics, or Biology, or both. Find the number of students
who chose both Mathematics and Biology. ® :

(A) 15 : (B) 20
@)
S & &
Z
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81.

82.

85.

86.

87.

¢ 'Ly)'
L
o T AT H oW W 3 AN *
Find the missing number in the given analogy.
25:625:135; ’fff‘ -
(A) 865 (B) 825 (10 1225 (D) 1115
a1 < R i s g e o 225 o e g e, g o P & e )

w2 3
&) o ®) @ [ {0 swed (D) iEm

What direction are you facing at the moment, if yolitart by facing south-east and turn around 225 degrees
anti-clockwise ?

: #
.. (A) South-east (B) East HlC} North-east (D) West
®)
AT ELFTET? -
What will Ee; tbﬁ,next letter ?
gl: H:t N2 )
(A) P ®B) O - &0 R M Q
a1 e s e st e g em w1 ()
Find out the alternative which will replace the quest@n mark.
12:26::7:24 {-}
A) 12 (B) 8 EﬁC) 9 (D) 6
A S ST 7 ST ST TE T AT | )
Find the ngxt lefier cjystegyin the given series. <]
DA, HE, NK, RO, XU, _ 5
(A) BY ®) CY ©) AY D) XY
Pt & & -8 11 Fefer, waft i e 3 ot 3 o ) o 1= ST A AT R 2
Which of the following diagrams best illustrates the relationship between Pigeon, Bird and Dog ?
o it
v@ »( 6 »Os
Freferftaa % & Si-a1 Sier a1 & arem 2 <I
A Feeft =8 B) gw-offem Wo) T - ffEE (D) 9 - TN
Which of the following pairs is different from the rs 7 : f I
(A) Cat — Meow (B) Dog — Bark C) Cow — Bleat (D) Lion — Roar
;mﬂmmwﬁmﬁuhﬁamqjm ” % wer 3 ot 3 i “frdet e =t e 3
? : :
(A) |WEEKR (B) efHmgy (C) WwE® " (D) SR
“The company’s decision to downsize was prudent.” What does the word “prudent” imply about the
company’s decision to downsize ? |
(A) Wise (B) Reckless © Careless (D) Hasty
i A L g v W T o e
l _.I ) \*g\qASAr”{

)
&
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88. PaﬁrQ s%aﬁ%rpwﬁma‘h%? PO
79 W4T T I A o foTe e (1) aﬁt(z)fh':m:r w&aaﬁm%/% ?
() RPHERIATH IR
@ U, Q#wRI . 1
(A) F=(2) (B) Fw (1) © ()R . (D) TRAD)ATQ)
P and Q are children of S. Who is the father of P ?
To answer this question which of the statements (1) and (2) is/are necessary ?
(1) Ris the brother of P and the son of T.
(2) U is the mother of Q. ,{} :
(A) Only (2) (B) Only (1) O(C) (1)and 2)both (D) Either (1) or (2)
89. ﬁnwwﬁﬁmﬁﬁkaﬁmwaﬁaﬁtﬁ%? e d ot offe ged v A aeer ¥ A, B
T U AU aﬂ ?
?@w LAGV%P?H MLV 2
I. FLNESAGOMI |:|
II. EXSONHTIAU ®) '
(A) Al (B) mm 11, 111 (©) éﬁa 11, 111 (D) m I -
After exchanging the 3™ and 6% letters and the 4% dnd gth letters, as well as the 5% and 10® letters in the
given words, which series would result in a meam@ﬂll word after this rearrangement ? :
I. HRETIAGVSN
II. FLNESAGOMI
III. EXSONHTIAU : {}
(A) OnlyII B) AllLIIL I O(C) Only I, III (D) Only III
90. TS wEAT HEe i el HEAT g HI | 4
Find the next number lﬁ_the given number series.
126, 112, 988470, I
(A) 63 (B) 53 [Jo s6 (D) 64
o1. ﬁqmwaﬁtﬁﬁﬁ&aﬁq%qaﬁtﬁuhsﬁm%ﬁmfﬁmm%ﬁ |
YA : T B A & @ & fog eran |
fy
I; ﬁamaﬁmaﬁtﬁm@ﬁwmaﬁra%% |
2. FMATHICHR |
(A) Faa iR 2a=rd $(®) Faq frsrd | AR
(© Fdfrerd 1 sa@2a=g (D) T e = &
Read the Statement and Conclusions given and deﬁi which of the statement(s) is/are valid.
Statement : An apple is good for an individual’s h
Conclusions ;
1.. Apples are a good way to keep someone hea@y and fit.
2. Grapes are better than apples.
(A) Only Conclusion 2 is valid ~ ©)B) Only Conclusion 1 is valid
(C) Neither Conclusion I nor 2 is valid <kD) Both the Conclusions are valid
92. R # Fard xR, A WS TIR? ® X5
If ‘# stands for ‘X, whatis 3#5 ? '
(a) -2 ®B) 15 ©) 2 (D) 8 &
BYUe e i 1. Gl T eLTIDago TS eE2A" o - s R . NYR the
"ﬁ\qASArﬂl
Y o
L rue D
“WEBSITE - - @ Watermarkh y
-4%““““\90* @ CamScanner
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93.

94.

TR a~b=a2+b,arb=bl+ad d (3 ~6) A2 AT 6

If a~b=al+b,a*b= b2+a, find(3~6)"2. L

(A) 23 (B) 21 (C) 18 . (D) 19 |

af s 10 ft wfior i s == ¥, R 90 Foult amd o w3 € i 6 ot i =ret €, At 7w s feig

Heur 7 oot sifow Rufa w2

(A) 11.6 fodtmifis fag @ (B) 10 Ferlt smifir feig @

(€) 9.6 el smifvres feig & (D) 6 ferlt srifirer g & _
What is your final position in relation to your starting point if you have walked 10 km South, then turns
90 degrees to the left and walked another 6 km ?

(A) 11.6 km from starting point ﬁ'() 10 km from starting point
(C) 9.6 km from starting point ({ ) 6km from s@ing point
95. qasaﬁmﬁ,su)%wﬁ?rﬁamAﬁmamﬁﬁﬁ?ﬂﬁrmﬁmmﬁaﬁsoom&,a‘rﬁrc
it 3 e A 3w i 2 f N '
In a survey, 60% of people preferred Option A and40% preferred Option B. If there were a total of 5t
respondents, how many of them preferred Option A[?)
(A) 200 (B) 100 @) 400 (D) 300
96. ‘W I E-wamd ¥ FaFns Eﬁrﬁ'%%;j Nk
(A) T (B) &4 (@ HIRH (D) fersor "y
97. HaEi AR AME ! T FTA MR AAAE? fbess il
(A) i ®) # © ¥ . D) ¥
98, FOFNF FFAARAR? 3 e N
(A) TEFeWd fomEare) (@) ™R ":} G B2
€ FWARFRE @) mmHrE
99. I Ffaam MR FTE ? | s _
(A) W (B) I [@ s . (D) forear
100. FefsfE i Eaamamditn: @
(A) et dar & Ea R Em| @) fost dan A A dE |
(€) Froddman® wga g & fireet Aivam o e SR AT R |
101. Frefofea ari f @ S-a A a2
(A) ST F2 T IWH T Aol & A=t 81 Tt |
(B) T 1 a¥ 1 o SR U g | s
©) vy FuhEw S eaEmusstzl O
(D) wﬁﬁmmﬁa@ﬂﬁzﬁﬁﬁmw@u
102. Fefafaa i s s aeamde g
(A) ® =m [%) g . (D) I
103, 2ffer wvez 7 ft vy o7eh et e it = v ) '
A) wH-Fwr B F-I G oo — e (D) Wi —g=an
104. H W 1 SR E R ¢
(A) W (B) ¥ ?3) it (D) IHTE
A B R T T i e -~
\"EHLSA?‘”{C‘
LELrue X =
e Watermarkly
%“‘*‘mma\-"o‘r @ CamScanner
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w. d. 1058 109 et 94 & .
Sorf &1 HI ST €, TR HH YEet 98 T STt 2 T T SRt I B € | 3 off ¥ g & @ A
ST gt S gt i 2 ot wmehre g € S e v b A o0t wd & P et g At firet foR st foer o IR
Freprer w1 i firet | sivan e & S7a ameR as9 2 3 3 92 & ST % v wH-CE IS WA
TR &, Y e T Y DY S iR s T £ T S I o e Y o 3 oft wm
IR AT (o T S g0 gl ot oy ForarT R, et 3 8 F o g A fi g2 ¥ | e oft o, s f
T H WA 3 TR T IEET Tel Fa o AT I T Fig] 2l |

105. TReT 7 e ‘e T A ¥ 2 @ |
A) w1 (B) @& ¢ = (D) et
106. TTerier & geaiey S feeai o ; ®
(A) WERTHITER (B) farefiseE |
(C) TR TR (D) FRATEIL
107, “HY=aZ 11 AL BT R 2 ' .
(A) FHEH (B) @H J©) e (D) AfmEd
108, TR T ST ST T BT 2 O - |
(a) Far (B) =&, &p) T (D) F=i@a™
109. SIFFME ! y :
(A) ST (B) wm ) T (D) &
110.  fopar-fordeor 3 bt 3R 3% aveeor o1 ot A3 o gm w78 2 2
(A) THEEES Gra-faemr -4 - ) P Srn-fasor — s
(C) afmmETE farn-fasor — v ) Reuferaeres e — =& 7 &
11, SREF R IE? ® -
(A) W& (B) (C) I (D) fowm
112, 3r I Sfear Fad & ;
(A) FFT AT ' (B) T aitcaun
(©) AT gn} e srem =T R EeAr
113, ﬁmﬁr@aﬁw%
A) =™ (B) e &) (D) 3ME
114, 2013 3 “firersfer 7 (394TH)” % fore wnfoey svapmesdt o R 2
(A) THIEEIE  (B) WsHdaEd™ ) T e . (D) wgenm
115, iR i dema et e s EEmer © - 2SS
() = ® = © (10
116, & v & forq anfee rehredt queahn fovm @ Y R 2 - d
(A) =nypwfemr  (B) sEtAwEw (C) Wi (D) Tfer= firam_ -2 -
117, P wradt 3 & v vk ot & - _ kS
(A) g ' (B) 3T (C) M (D) &A= -
118, “HETT wieg w1 wfeiT FT B 2 -
@ W (B) wedt (C) et (D) ST ol s
BRIl e - s 1ol 1 . & o Aagradaes
Q}v‘»s\qASAr”{oo
L e
wees — @ Watermarkly
(8 camscanner
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‘ﬁ(ﬂa}%w%:

(D) Fde fm
(D) s
©) 3
@) WWW

® F1

(D) v

(D) ?1'3,31'

(D) I

fD) erHan fowa _

(D) wEife

-

ﬁ_—:l_? %ﬁj} _-,{: é‘\‘(l‘F:'?-q»-'& ""'(.!{ :"ﬁ

[}

119,
(a) i B Foer (B) gfTeA v
(C)  Afrefterr (D) T TS
120. “faiee ¥ PH-GTENE R 9 _
(A) IR ®) far © wghfr
121. Fefafaad @ (7) g aRw?
(A) otfrm (B) e fam ©) wE=E
122, Seafir 3 ST Rt 35 A e P ¥ | P 3 & wm S e 2
(A) TE (B) aEm O (OWELL]
123. S mwfa e ddam. E]} g
(&) TR ®) fafy [©
124. G160 F @S ; - ©®
(A) Wi THT (B) froem <l(C) BLEC
125. “sfie @ faam 2 : ®) "4
(a) Tia (B) 358 (C) I
126. ‘GvE ¥ TEIH FAFEA B2
(A) FEHHEH (B) T v (C) W s[ihred
127. PefRee i d s v ase 2 8 '
(A) Hed (B) «mEd <]-(c) L
128, fow T AT & e e weg B " '
ST el 7 o G " ]
(A) FFEHE (B) aﬁf@m _ ® (C) TR
129. =TT, o, e et B @ 2 <]
(A) T frar ®) st © () T e
130. ‘@ F AT R 2
2 o W) T ®) fag (C) FHura
131 TEHR A R Rmodamy: (P
© (A SSAETEE R T Q@) e wes S seA
- (C) FETEI G FA o TR AT
132, “ATH o 3T TSferiT & g FT G 2 I% -
e B) WAL
(C) #gTE S Q(D) o
535\}:_5;“"““'“"""'"""""""""TF@1'3'65574 """""""
\,4,5“"5“'8 :
v o
Bl THR =t
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133, RO, o g o 2t v 8, 9 et e 1 g | e e e A g e i 8
@*ﬁ?‘ﬁﬂﬁmﬁ‘w%mﬂﬁmmaﬁml

(4) diem - (B) @ ©) @ (D) Ft
In the given question, there are two words to %eﬁ of the sign :: which are connected in some way. The
same relationship obtains between the third wo! and one of the four alternatives under it. Find the correct
alternative.
Sugar : Sweet :: Lemon : ? {}
(A) Yellow (B) Sour ' (C) Juice (D) Fruit 13
&%
134: qaaa:mimﬁ 30% AR wfeemd ¥ | 60% gl s 3t 40% TR FHER e € 1wl # ~
 rfeEfed et o ST e 2
In an office, 30% of the staff is female. 60% of thie female staff and 40% of the male staff are married. The
percenfage of the unmarried staff in the office 1@ , E ™M
(A) 46% - (B) 48% ©) 52% (D) 54% 2~ e
o4 2
135. Feferfaa # & SF-ar e ad TE R 2 gy 2%
Which among the following is not a leap year ?9.¢ ; -
(A) 2004 (B) 2020 O (© 2024 (D) 2014
136, S AT I & 2. R, mm%ﬁq@ﬁlsmﬁ#w%:aﬁaﬁm#ﬁ =
-1
mﬁ%ﬁaﬁﬁmmﬁﬁmﬁmmﬁmﬁﬁm%o 3 ;*
(A) 44 fme (B) 35fFe ] (C) 45fe (D) 48fiz "Lg,
Walking %ﬂl of her normal speed, Athira is 15 minutes late in.reaci_ai__rig her office. What is the usual time
taken by her to cover the distance between her home and office ?
(A) 44 minutes (B) 35minutes @& (C) 45 minutes (D) 48 minutes
137, Frafefea g i x 3t y #5199 310 Hife | 342 | | e
Find the value of x and y in the following series : : e
' U4RS, 016, x, 164, FI28,y 2 ﬁ;,
(A) K24, D345 (B) L32,C256 O (C) G32,E256 - (D) M32, B345 ;,z.%"‘

38, af DEEP # 30, smaﬁzs%;mﬁa?rgqﬁmm% 3 RIVER % f =0 § #ifew far g2
STem ?

If DEEP is coded as 30, SEA as 25, then RIVER Wil be coded as . - ¢1i5 Lt
A) 15 (B) 20 ® © 712 (D) 56 91
139, s 9y iR < 2 R p
J
Find the dissimilar term.
3XS, 4U3, 2R4, 302, M3, @ w
(A) 302 (B) 4U3 (©) 2R4 (D) 1M3
0. sy v s A | |
Find the dissimilar number. _
1,3, 12, 60, 340. as g
(A) 340 (B) 12 © 3 . (D) 60
T R R s e e Y w5 s
+5“A$Ar&1
Ly N\
S T =
E‘I:'UECBA;';OTIEAL —_— w’} \ ﬁ f;ﬁﬂ erm ﬁ\yl{b
R cs
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141.

142.

143.

-

ANT S T T Afh I I AN g ek e @ SR 90 fesft amrerd @i e w180 ferft
Tl @ | 37 34 =afen w1 Hg Frw Rem i afe @ 2

A @ (B) =f&mr (C) IW (D) iz

A person performing yoga starts facing North and then turns 90 degrees counterclockwise followed b
another 180 degrees counterclockwise. What direction is the person facing now ? '

(A) East (B) South (C) North (D) West
see-ufim faam i 3 sert aren sxfes o At ey R R # dam g 2
(A) Iwufym (B) afu-g@ (C) - (D) =fiorafim ?
A person walking towards North-West directiﬂ sees his left hand in which direction ? : ﬁf
(A) North-West (B) South-East {3  (C) North-East (D) South-West : e
: : P
FGeT 9, 72,243,576, g i [ . t st 5,.':&{,
_ . Complete the series 9, 72, 243, 576, . © %
NLA) 125 (B) 1250 <] (C) 998 (D) 876

144,

AR ASB H A A, BRI, ‘A#B@rwi% ‘A, BRIUe: ‘AxB FTASR ‘A, B asT2",4
WHEXxVSURW,  URAFR gdfme?

(A) = (B) @m@ () uf (D) &

If ‘A § B’ means “A is the father of B’; ‘A # B’ means ‘A is the mother of B’; ‘A x B’ means ‘A is th
sister of B, then how is W related to U in WX x V$ U 7 e

(A) Grandmother (B) Grandfather ()  (C) Mother (D) Mother-in-law

. = Rfmwg |, 48 =1 ord “which sc_}lggi'*%'@ngaga:rw‘*cﬂgge and school” & | &Fe & foy s |

27

In a certain code, 48 means “which schml’@d 968 means “college and school”. What is the code fc
school ? ®

(a) 4 (B) 8 q ©8 ' D) 9
L X#yfmesmeafEx yHiad g A DD S /|
2. Ysziimemafry, zwwEn) o I
3. Z*AfmEmifez ARAAT 0 Y, Z=
AR eiEr s R

S @A) A B) X Qi ©z | ©) Y

1. X #Y indicates X is the mother of Y.

2. Y$Zindicates Y is the brother of Z, <] :
3. Z*Aindicates Z is the daughter 6f A. o X v
Then who is the father of the family ? D b ) U P
(A A - (B) X @ © z D) Y

147. ﬁmﬁrﬁaaag@wﬁtam%!'sﬁsﬁﬁ%aﬁ%@raﬂm%mwaﬁ%? 1
* How many ‘S’ are there in the following scri@hat come immediately before K and immediately after K ©
SSKSKSRKSPOKSKSKS
(A) 3 (B) 4 ©) 2 (D) 5 )
Bcvaor 0 SRR T g PREBAOOLE e T TR
+‘:‘\lﬁ541‘~!
X%
2L THE =%
EDUCATIONAL ; "
o @ Watermarkl,
s, 0 :
*'*-9»45,1“\-"0 @ CamScanner
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148, Tt TS-<ITE T G0 % W & v s 6t sfirerer Fereor gt & | ardad v e it 3R

3G FATIR T T T IH AT |
o s 3 er 119 e e = e )
warem O - . go ¥
. . A 5 el
A
4
A |
? a___
I(QV'
2 55
' 38 28§ e
aﬁgwﬁﬁwﬁﬁrzm%mﬂwm P,zw%,a’rsag@aﬁ%mqtﬁﬁm@a‘m? Hf.,p
(A) T21,000.- (B) 20,100 (C) 22,800 (D) 22,500 : ’%{;h_

The following f)ié-chart shows the percentag<e] distribution of the expenditure incurred in publishing a,
hook. Study the pie-chart and the answer the qiiestion based on it. g

Various Expenditures (in perc@?pge) Incurred in Publishing a Book

Promotion Cost @

10% 1

AL 2
F= e =

Transportation Cost
10% t &f"'

14 /)

Binding
20%-

Papcréjost
. 25%

2
If the printing cost for 2 specific quantity of E.;;bks amounts to T 40,200, what will be the expenditure for

tion of these books ? g
promogioriol @ o w250 (D) T22,500

(A) %21,000 (B) 20,100 <|
19, |1 et mﬂmz‘gqé@ﬁ %,ﬁtﬁaﬁfmﬁﬂﬁﬁﬂﬂaﬁw%mﬁmaﬁt.
At @ B ﬁmmam%aﬁﬁaﬁﬁ#mm@ﬂﬁﬁﬁmmﬁ%a&m

¥ Ay st AT FE ? b L n=t (D) 24 ¢

A ) 22 : :
(A) 23Ty (:in of 11 members is 29 years old, and the wicket-keeper 13 four years older than
the captain and the wicket-keeper are excluded, the average age of the remaining
years less than the average age of the whole team. What is the average age of

The captain of a cricket t€
the captain. If the ages of
players of the team is WO

E]igteaz?; ®) 22years © e ()24 yean
E S (< B e ¢ e et
Bx"s}:j& -------------------------- Page 21 of 24 Lt "3 %, ST
L L ¢ 22 -
Wi e
Ly SNAsATy,
~ & 24 > 'Q,
- e
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150, T T g-=E e it o wte] =1 v e fenem wwien & | afe 7 far man & o aftaw i e Tt
AT 32,500 B, At WIS AR A T HYH €7 & T ohi 78 et Wifeeh URTHITE 7

< Sy ' 1% <]

(A T12,200 {? (B) %11,700
L R =l D
2 (C) 18,500 (D) T11,000
The 11:rit:': chart f;rovided shows the percentage breakdown of a family’s domestic expenditure. If it is give

that the family’s total monthly income is € 32,500, then what is the total monthly amount spent on foc
and entertainment-combined ? ®

Domestic Expenditure of a Family
| 2 3y Provident Fuﬂ&

(A) %12,200 _ B) T11,700
(©) T18,500 & (D) 11,000
BXvo24 T :""""':_{"-""-':"'"-r"._-_P_a'g?fz_ﬁfii """""""""""""""""""""""
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